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DCD-1601100301020401 Seat No.
B. A. (Sem. II) (CBCS) (W.E.F.-2016) Examination
July - 2022
Sanskrit : Paper-4 (A)
(Hitopadesh-Mitralabh)
(Elective-2) (Old Course)

Time : 2% Hours] [Total Marks : 70

YA-/Instructions :

(1) dedustmi ge wia wsl 8.

(1) There are five questions in paper.
() 35 uaddi 9@l AL B,

(2) All questions carry equal marks.

1 () DAl AduRl A olEridd MR 2 ¢
1 (A) Translate any two of the following passages : 8

(9) df-Teuatly qEq | Yol g0 — HF q9 HOM | I BRI
T g | ORiSIEd - %Y AREe @ faumE: |
Y IAE-Y T U, UOE  AETeEEaggd
HEH | SMBTHEWIT aem g1 gar Iy | ad
FATTSIHRUTEATISE S el TXg War | qguaenfaHme
Al ad g@l Madager 9w i |

(k) TN WY& fEmdHATEISE | "WiSTEd  oeHH TR
e FeErl arEEveaHERRasS | g gHear
3 | fomEyEE: oo 9 |der 99 Rgara |osTa
waee! g g SighErTa: | waerdgen e
THAMY Sgean | EREHE: |

(3) o sERW SRfaEd T9 BRI | qHAAE 99
A=A SEgd hrguRe fed darseresadas
Eagedd Wl WieH 9l | JEhT JEgEe
Ik S O e (T It B LU B P B G2 IR R S
q g HYIASTAY Tl g e - <
gheyaE &% |
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(o) NA-umiel ASusl & Aeol Alsd AuAd
(B) Explain with reference to context any two of the
following :

(9) 3w W feam faem o

(k) TREURY 3 wusisty gama |
(3) fafter swanfwfy & @fr: |
(¥) wphr: fasfe f& wemmm |

Rl GRdly Alscani welsadl Guizddl weldl.

Necessity of fables in an ancient Indian Literature.
2Y4l/OR

[Bluga-l Al Al vl s3.

Discuss in detail the style of ‘feamazsr: .

MRdlY sARABAHL URA [vgauldl Meld Heuisd $3U.

Evaluate the contribution of ‘@ftsd faw[smi to Indian
fable-literature.

21Y41/0OR
Auulla Rl sail olle M3ul.
The concept of story of HaasiieieTe:.

SRErerel saldl ol [H3ul.

The concept of the story of SRETATY:.
AYA/OR

dotete 2 alaruadl-l sai-dl oly [H3ul.

The concept of the story of Jgaa WEUIIA!:.

A4l SSuRL 6 sy @il :

Write a short note on any two of the following :
(9) e_gsET |

() famstar |

(3) I - TP |

(¥) DBiotaloi Reaisid-dl s,

(4) Stories of betrayal in 'Mitralabha'.
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